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and also the required data.
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cheek for (i) The same booklet code (A/B/C/D) on cach page, (ii) Serial number of the
questions (1—160), (iii) The number of pages and (iv) Correct Printing. In case of any defect,
please report to the invigilator and ask for replacement with the same booklet code within five
minutes from the commencement of the test,

Electronic padgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log
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Darken the appropriate circles of 1, 2, 3 or 4 in the OMR sheet corresponding to correct or the
maost appropriate answer to the concerned question number in the sheet. Darkening of more than
one circle against any question awtomatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Paper Booklet.
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Instruciions ;

(1} Each question carries ene mark.
(28 24y5 &£ Srdy, Sed.

(ii) Choose the cormect or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the comesponding digit 1, 2, 3 or 4 in the circle
pertaining 1o the question number concerned in the OMR Answer Sheet, separately supplied o
v,

Hf:a) WS (D8 (D0 adyedsd odd” DOD0LS Sdrerddod Jo)BR oal
ardod wo3 1L 2. 3 ©4 4 B adjd OMR Rdres :&LEE;-;&" CEM:L
Dowodold Hopglie DUES wr/arf wrd rowed dyy 43TrAoD JobITR

MATHEMATICS
l. The cquation of a straight linc, perpendicular to 3x — 4y = 6 and forming a triangle of area

6 square units with coordinate axes, is

Ix -4y = 68 oowom dobr Arizgod 6 S88H b 3Toge 435
|Ezherdy JE30Y 28 Hd¢ g Dddaoo

(1) x=2y=6 (2) 4x+ 3y =12
(3) dx + 3y + 24 =10 (4) 3x + 4y = |2

=7 =6
2. If the image of [?'"5—') in a line is (1, 2), then the equation of the line is
g A Dot [q—ﬁ_’T] g (Gabowo (1, 2) wond o Ty HI8wo
(1} 4x +3y =1 (2) Ix-y=10
(Yl —y=0 (4) 3x + dy = |
Rough Work
E2014D 1Q
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3. I aline ! passcs through (k, 2k). {3k, 3k) and (3, 1), k # U, then the distance from the onigin
w the line [ s

(k. 2k), (3k,3k), (3, 1) k=0, & oo =8 Hd¢ de [ Fér aoll, Juroodd) Sod
v dp [ & Srdo '

I 1 3 2
(1 75 (2) 5 (3) Js5 SR

4. The area (in square units) of the triangle formed by the lines x% - Ixy + y’ = 0 and
x+y+1=0

d¢Bpen ¥ -y +y' =0, x+y+1=008 Jyd (Bihe Brogo (S84Y

oS e &)
iy V3 1
M 7 2 = () 52 ) 573

5 If %2 + ay® + 2py = a’ represents a pair of perpendicular lines, then p =

%+ oy’ + 2y =a’ € sondigr iRy ArDR wdypd f=
{1) 4a (2) a (3) Za (4) 3a

6. A circle with centre at (2, 4) is such that the line x + y + 2 = () cuts a chord of length 6.
The radius of the circle is

(2, 938 Foide 0B u¥ Iydod, HEYTp x+y+2=0 JIEW vy
6 wond o S8 Fgardo

(n Jar 2)
() V2l @ 3
Rough Work
E014D 10Q
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1. 'l‘hepnimmwhir:hlhecirr:lﬁx]+f-#u—4y+?=ﬂmdx1+f—rllx—lﬂy+45=ﬂ
touch cach other 15

Syamen eyl —dx-dy+7=0x"+y = 125 = 10y + 45 = 0e> 3380080 Doday

13 14 25
0 (35) @ (53]

8  The condition for the lines /x + my + n=0and /;x + my +n, =0 to be conjugate with
respect to the circle x* + v* = * is

Sydo xt vy = r’ 8 yerg R8¢ Bpen Ik +my+n=0 /x+my+n = (e
Dodinmyer @3rIE Jdbaso

(1) /I, + mm,) = on (2) f(ll, = mm,) = nn

(1) r:{.ﬂ'l +mm )+ on =0 (4) r={fm| b {,m) = nn,

9. The length of the common chord of the two circles
Yy —dy=0undx'+y -Bx-dy+ 11 =0is
TVods Syeven x’ +y —dy =0, x"+y -8x-dy + 11 =0 0 adyd =g S4H

J145 J11
(1} == (2} 5
- J135
(3 135 ®
Rough Work
E2014 D 3 0Q
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1. The locus of the centre of the circle which cuts the circle x* + y* - 20x + 4 = 0 orthogonally

and touchcs the hine x = 2 18

Sydo Xy -20x+4=085 voaDdso ﬁ"a:_:* Hod O x=2 ¥ ‘éaaﬂaﬂ oy
Toldy Dody Bgo

(1) x?= 16y (2) ¥* = 4x

(3) ¥* = 16x 4) x* =4y

11. If a normal chord at a point t on the parabola y* = 4ax subtends a right angle at the vertex,

then L =

dordodie ¥ = 4D Do t 54 ebhoowey §do ¢ vowFwo dh
H‘::J.Jlil | =

(1 1 2 2 (3) 2 @ 3

12. The slopes of the focal chords of the parabola y* = 32x which are tangenis to the circle
2 - A
X° + y* = 4 ar¢

Sy8o xt+y' =4 548 mydOpeipdr dold Sodedlo y: = 12x TCws) Tdergo

a0
| -1 I =}
® 2% W BV
A3 2 =2
O TEE @ 7%
Rough Werk
E 2014 D 40
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F. 2

LY. If tangents are drawn from any point on the circle x* + v* = 25 1o the ellipse LS SR
16 Y

then the angle between the tangents is

T 2 2
5380 x7+y' =25 B Dodbpe $308, bg Syso %+%=IE py88mes A%

vdpds @ B8 Tpe gy Ewmo

3 () =~ (3)

¥
(1) :

n
3 4 5

14. An cllipse passing through (44/2, 2-/6) has foci at (-4, 0) and (4, 0). Its eccentricity is
(4V2,2/6) dooor a0 af BE3)eDE (4. 0), (4 Do 8¢ Thomyon. o

ﬁﬂa,ug_dﬁ
M 2 @ = ) % 9 7
2 € 3 (3) J2 (4) Nl
:1:2 TE
15. A hyperbola passes through a focus of the ellipse T +E=I . lt5 transverse and conjugate

axes coincide respectively with the major and minor axes of the ellipse. The product of

cceentricitics is 1. Then the equation of the hyperbola is

; W 5
w8 wdtodocho, bi&aﬁn ﬁ+_£§=1 Twey Hiboor. Pdr sod. ooR
8d3% wgo, Podinf) viow SHHm &E AT ﬁg*ia. s food i}Eaﬁn%m}.

od adiodde vyo 1. edyd: vd Boesodh phEdeo

n H_l,_£=1 (2) fi_ﬁ,l (3) "‘_2 :"_1..| (4) ’_"EE_.JI'.E.=|
144 9 169 25 144 25 25 9
Rough Work
E2014 D
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N

16. If the line joining A(l, 3, 4) and B is divided by the point (=2, 3, 5) in the ratio 1 : ;}, then
B s
A(l, 3,4), B o $9°D dud (-2,3,5) oF Doy 1:3 D43 Qe v yd B
(1) (-11. 3, 8) (2) (-11, 3, -8)
(3) (-8, 12, 20) (4) (13, 6, -13)

2 =
17. If the direciion cosines of two lines are given by !+ m+n=0and i Sm" +n*=0then
the angle between them is

fod: addOpo 65 Fhde [+m+n=10, P-5mtnt=00é a3qpdd w
Bods dpo dagy Fwo

b4
(1) = (2)

“NE

3 3 (4)

Wi

18, IfA(3, 4, 5), B(4, 6, 3), C(-1, 2, 4) and D(1, 0, 5) are such that the angle between the lines
OC and AR is © then cos 8 =

A, 4. 5). B(, 6, 3), CC-1, 2, 4), D(1,0, 5) o DC, ABe $¢gsimo 8 eThgherr
so¥ mupds cosl=

2

? -

M 3 2) 3

3

4 L __ 1}

3 3 M 3
—_— —_— — e — — ﬂ—-—_—

Rough Work
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, \J|[I+,1.z—‘|J|Il—'.n:+:llliI
Im P ——

19. L =
o x-sl) K Tl |
.. 2) log 9
(1} Jog3 (2) log
- (4) log 3
3) log 9

. If f: [-2. 2] = R is defined by

J]+;;E-..,|'|-¢x G

or —22x<{

() =1 :
X43 for 0Sx<2

x+1

is continuous on [-2, 2], then ¢ =

Jl+ex -1 —ex (C2sxc08
F(x)= "
b (Usxs2 &
x+1

i Rdgdonnd, e [-2,2] = u;l‘rﬂ}}.ﬁlu swond whpd o=

2 3 3
M F (2) 3 3 3 @
e ———————————— ———————————————— — N
Rough Work
E 2014 D TQ
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21, I f(x) = x tan~"x then lim J¢2=f1) _
Xx—3| |
(x) = x tan~'x wosd lm L= _
X =] X -]
T+ 3 m
(1) 7 = o B+l 4+ 2
4 @ 3 3 = @ =
fo%
m—— LY |
22 y=tan [ """ = = (1 + a®x)y" + 2alxy' =
(1 —2a (2) @° (3) 2a’ (4) 0

X
23, If f(x)= Sk and g(x) = ff{x)) then gix) =

FII‘:——— g(x) = [(f{x)) wond wdypd gix) =

I — —
M ax43)? ) xe1y? “ 2 B x4
24N 2
X b
24. If 1 B Wi
the curves ~ * 3 =1 and 2§+ILE- =] cul each other orthogonally, then a® - h? =
wi e :z 2

ey — ) 3
S5l N +b2 =1, 25-+E-—Im von Pdio ImeEted, B0 & a’ = b =

(1) 9 (2) 400 (3) 75 (4) 41
Rough Work T
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25, The condition that fix) = ax’ + bx® + cx + d has no extreme value is

fix)=ax’ + bx? + ox +d § wodg Dend Yhodwrdd Do
(1) b > dac (2) b? = 4dac (3) b® = 3ac (4) b* < 3ac

26. If there is an error of £ 0.04 ¢cm in the measurement of the diameter of a sphere then the
approximate percentage error in its volume, when the radius is 10 cm, is

w¥ A% argho FPosd0s® £0.01 Do.0s &80 acd, v /¢ argrgo 10 Bt) 4L
adyhpda, ¢ Gl Bdrecd® duronoed &'a vdo

(1 = 1.2 (2) + 0.06 (3) = 0.006 (4) + 0.6

27. The value of ¢ in the Lagrange’s mean-value theorem for f(xj=+fx -2 in the interval
[2, 6] s

wadda [2, 6] Lﬁﬂacﬂm r{}'.}:-lJl:a;—E E gmoed ﬁaﬁﬁm O3S hg‘*nu‘:&l
maonfod ¢ Deood

5
M 3 @ 3 @) 3 @ 4

K
28. =g(x) te=g(x)=
'I. ;sinjx O3S X

~’ -2
(1} Veol X ) Jtanx
2 2
® T W Janx
Rough Work
E2014 D 9 0Q

EAMCET Mock Counselling: www.netbadi.in EAMCET Rank Estimator


http://admission.aglasem.com
http://admission.aglasem.com/

EAMCET Rank Estimator www.netbadi.in EAMCET Mock Counselling

D\

dx AVx B ; -
29, 1If - + +C ., where C is a rcal constant then A + B
J-{]-r-ullr;]ixv-x: fiex " Ji-x
f—= ___T=‘“*"r; +TL +CS° C 88 906 bopg wond wbyds A+ D=
{1+~4'r;}ﬂ.|r::-xz 1=x I=x
(1) 3 (2) 0 (3) 1 (4) 2

b
30. For any integer n 2 2, let 1, = [tan"xdx. If 1 ==wn""'x~bl,_, for n > 2, then the
ordered pair (a, b) =
1 :
(58 Srgofo nz28 I = [un"xdx wdstod. I =tan" 'k -bL _, (n228)
vond eDpd (Fd Swio (ab) =

-1 -2
(1) [""*:_?] (2) [“']rh) (3 (m, 1) (4) (n-1,1)
. i = AL —— . in ¢ i5 a constant
- {x+llzmm 4 [ :-: ]“3
l {HI_H dx:hlan"' X2 bx+1 +c & ¢ ?.Eﬁ' ﬁﬂua, sond A=
ln41]z]£{xl+u+1} %
(1) % (2) 3 (3) 2 (4) |1
Hnuglt“’nr]:
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32. By the definition of the definite integral, the value of

4
l-ﬂ. -24 j* n
Riii + 4 o TIPS, 15
nqm[lg_l_ni 35 end e n°® +n"

4 4 4 1
1 2 3 n
i I_'i '—'_+—'—' o I' +ill-ll--“l-+
:m;,et ardad ﬂﬁsﬁ;ﬁﬁ oy o nj‘m[lj-l-nf' 2!.+ﬂ5 35_1_"5 n;_ms]
Jead
|
(1) log 2 (2) o2
Lion2 (4) lIl:l-g!

n'h
33, jms‘ 30 -sin® 68 d0 =
0

3
256

s

@) 152

:n: 3
M 3¢ ) 15 (3)

34, The area (in square units) of the region bounded by x = -1, x = 2, ¥y = %* + 1 ond

y=2x-2is
=_|,x=2,y=x"+ L, y=2x-2 off %:Eszng RS BTogo (SESW cﬁwagﬁ‘:
(1) 10 @) 7 (3) 8 4) 9
# S ———
Rough Work
E 2014 D i Q
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o\

35. The differential equation of the family of parabolas with vertex at (0, —1) and having axis
plong the y-axis is _,
(0,-1) & 8go ¥0, y-wgo odm wgTu £Q5 ‘-".‘rul':tmﬁ.:‘t: e300 wifod
B gdmidn
(1y yw+2xy+1=0 (2 xy +y+1~0
(3) xy-2y—-2=0 4 xy-y-1=0

d ; :
36. The solution of I'ld—:'-' ¥+ X e¥* with y(1)y=0is

HE‘{,F.‘*;EF"‘ g y(1)=20 uﬁ.‘rggaﬂ'ﬁ bl

dx
(1) &™ + log x = 1 (2) ¥ =log %
(3) e +2logx =1 {4) e +logx =1

i dy .
37. The solution of cosy +{xsiny - ”E =0 is

d
cosy+(xsiny lli =08 JGH

(1) xsccy=tany+¢C (2) tan y — S8C Y = LX
(3) tan ¥y + 5€C ¥y = CX (4) xsecy ttany = ¢

: 24+%
38. If R is the set of all real numbers and iff:R - {2} -» R is defined by ““’:ET for

% € R - {2}, then the range of f 13
R aas sogrg Hdud epdr, f:R — {2} >R Ddeddo (08 xcR- {2}8
f{ﬂ=1_+,£ wond edpds [ TE g

(1) Rz-diiii (2) R (3) R- {1} (4) R-{-1}

e *—-——"
e ———————— T — -—

Rough Work
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39, Let Q be the set of all rational numbers in [0, 1] and f : [0, 1] — [0. 1] be defined by
x for xeQ
Hﬂ-{ |- for x¢Q
Then the set § = {x & [0, 1] : (Fo £) (x) = x} 18 equal o
10, 1]6*n weddadh dopga W8 Q wh, £:00,1]1 = [0, 1] 2dgdda
X xeQ
() (xeQ
1-x (xeQH

wh wifod. ebyds B
§=(xe[0,1]:(fof)(X)=x)8 HHrSTHS

(n (o, 11 (2) Q (3) [0,1]1-Q (4) (0. 1)
n+l
D A
]
(1) (n=1)(2n~1) (2) (n#+ 1) (2n + 1)
(3) (n+1)(2n - 1) (# n-1)@En+1)
5 : a+ib c+id
41. lfa,b.::anddan:rl:alnumhcraﬂuﬂhllm'lal+h1+cj+d =land if A= esid a—ib
then A~! =
' p+ib c+ld
S dopgen . b, ¢, dea al + bt +?+dP =1 eBhgior dolr, A-[—nﬂd 5 —ib

wond wdHypd Al =

‘a+ib =c-=ud [ a=ib c+id]
(1) | c%id Sadib (2) | ~c+id a+ib
fa-1b -c-id "a+ib c+id
-lil ' i (4 ¢-id a-ib
c—id a+ib I
; ——— #_'_'
————— — —_ e — —
Rnl.l:gh“"nrh
E 2014 D 13 O
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M\

1 2 30
2 4 3 21. _
42. If the matnx A= is of rank 3, then @
32 1 3
L'E' E T I::I'.-
"1 2 3 0]
2 4 3 2
- - s 1 mond, whypd o=
L85 A 3 213 p
Lﬁ 8 7 u|
(1) -5 (2) 3 (3) 4 (4) 1
k ka o
43, Ifk > 1. and the determinant of the matrix A%, where A=| U ﬂu k: JiskPthen || =
0
k ka o
k>) whdr Sr88 A=| 0 a ke wond A? dg-d¥o K wonddydo |a|=
0o 0 k
I 2 4 .1-
(1) Ez’ (2) k (3) k (4) m
44. The number of solutions for 23 4+5=0 i3
A 4+7=08 fo >Edo Duwpg
(1) 5 (2) 1 (3) 2 (4) 3
- H
S ——— m—— x

]-i_nug'h Work
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45. The least positive integer n for which (1 + i) = (1 = )" holds is
(1+)"=(1 - )" edhge acd £23 ¢agrgedo n
(1) & {2) 2 (3) 4 4) 6

46. If x=p+q, y = pw + qw’ and z = pw® + qw where w is a complex cube root of unity

then xyz =
X=p+qy=pw+qw,z=pw +qw e w =la 88y Bold Peddawroo woRs
wd pdy xyz =
(1 p'+q° 2 pP-pg+q ) 1+p+q’ @) pP-¢
{7 =cos| = |+isin| — |forr=1,2.3 then 2,242 w0 =
47. If £ =cos ? 1 51N 3 Y 1B E PR (Loghey wareinns
5 m
r= 1,2, 3 e Er=ms[zir]+ism[;;] woud woypds Z 2.7, ... w0 =
(1) -2 @) 1 (3) 2 @) -1

48. If x, and x, are the real roots of the equation x* — kx + ¢ = 0 then the distance between
the points A(x,, 0) and B(x,, 0) is

v X500 nhogsmo X —kx+ec=08 mwgﬁ wdypd Dodipen Afx, 0), B(x,, ()ex
238 Groo

(1) Y2 +ac @ Jik2-c ) Y @ Jk® -4

X

Rough Work
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o\

2

- ']
49, If x 15 real, then the minimum value of }’='E'E—L‘ I5
X +x+1
xz-x+l
x Thi bopg wond, edbypd Y= ¥33 Dood
. X“ 4+ %X+
1y 3 i l 3 l 4) 2
(M) @ 3 3) 3 )

50, If p and q are distinct prime numbers and if the equation x* — px + g = 0 has positive
integers as its roots then the roots of the equation are

p,gen 3D5y (Derd Dogpoipdr, LHdod8mo X -pr+q=028 FHYrgrosTe
Sareresm 4ol edypd @ AESody Swreren
(1 1, -1 2) 2,3 (391, 2 (4) 3,1

51. The cubic equation whose roots are the squares of the roots of x* = 2x” + 10x =8 = 0 is
W -2+ 10x-8=028 de Jorwre Soeods darormone 6AS ud Bdefdmo
(1) x' + 16x + 68x — 64 = 0 (2) x'+ 8x?+ 68x =64 =0
(3) x* + 16x? - 68x ~ 64 = 0 (4) x* = 16x* + 68x — 64 = 0

e

52. Out of thirty points in a plane, eight of them are collinear. The number of straight lines that
can be formed by joining these points is

a8 HIdood'd B0d3y0 DodHEt 08 DodhPHes STBhoires. & Dodihod
Jorpdr AcKORS HE¥Tme Dowg

(1} 296 (2) 540 (3) 408 (4) 348

Rough Work
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53, Ifnis an inmeger with 0 £ n < 11 then the minimum value of n ! (11 = n) ! is attained when
a value of n =

0<n<ll wGhgds aod Lrgrofo n soud n!(ll-n)! 2% Dood Srodirds

&8 n Qs

{I:} |1 (2) 5 (3 7 (4y 2

;4. If (a+bx)™ ==-2-l§ I ;x Freeeenes then the ordered pair (o, b) =
{n+h:-:]'3'-—-2%+%u+........,. wond wdypd g ainfyo (a, b) =
(1) (3.-27 (2) ['%} (3) (3.9 (4) (3,-9)

I8
'
§5. The term independent of x in the expansion of (ﬂ'r: -*IL-) is

&
2
['-E-:E] Jp8s' x S0 Dgsold ddo

18 18
o {1 o (2}

18 18 ) .8
(3) [ P ]Eﬁ (4) [ G ]2
Rough Work _ ]
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EJ-E:J'-I-:-:2 5 Ax+B Cx+l
56, " = +

- = (A B,C)=
7-:4—25 %" -5 X°45
{1y {1, .. B {(2) (1,1, 0
_{3} (1. 0. 1) {4y (1, 4. 1}

57, Ifcos x = tan y, cot y = tan z and cot z = tan x; then sin x =

cos X = lan y, col y = tan 7, cot Z = tan X wownd e pd sin X =

J5 41 45 -1
(1) yr (2) 3
V5 +1 J5 <1
(3} 5 (4) 3
58. tan 81° — tan 63" — tan 27° + tan 9° =
(1} 6 (2) 0 3 2 (4) 4
3 - 3
59, If x and y are acute angles such that cos x + cos y = 3 ond sin x + sin y = 2 then
sin (x +y) =
1 : ]
woyE'mrer X, yoo cos x +teosy - Sesin X +siny =7 uﬁﬁazg:un‘ﬂ wdpd
sin (x +y) =
& 3 3 4
— — - 4 -
1) 3 @) 3 @ z (4) 5
ilnugh“’nrk

~ 18
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D\

60. The sum of the solutions in (0, 2x) of the equation €08 X ﬂﬂl{;—- !]-‘.‘ﬂ-ﬂ [-g-+ x]= s

1
4
GasE8mo COs N m[%— H}ms[;— f HJ'% %% (0, 2n)s a%) rho Bwdo

(1) dn (2) n (3) 2= 4) 3

6. If x>0, y>0,z>0, xy +yz+ zx <1 amd if tan™'x + lﬁn"y + tan"'z = n then

A*y+z=

x>0,y>0,z>0,xy+yz+ <l eHér un'x+uan'y+an'z= 1 wond viypd

xRtytis=
(1) 0 !'L',’-'!'_i XYz
(3 Ixyz (4) Jxyz
-1 e
62. sech [u-l—]-mmh [E]—
143
(1) log, (32++/3)) (2) 'ﬂﬂg[ 3 ]
2443 2-43
3 iﬂﬂ¢[ 5 } @) log, [T]
Rough Work
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o\

63. In any AABC, {u+h+r.:}{b+=-a][c+a-b][u+h—c,‘|=
Ab ¢

(a+b+e}b+ec—a)(c ta=-h)(a+b-c)

o (Bibmu AABCS 3,

4h4ct
(1) sin® B () cos® A
(3) cos’B (4) sin® A

64. The poimt P(1, 3) pnd:rgn:s the following wansformations successively :
(1) Reflection with respect to the line y = x

(i1} Translation through 3 units along the positive direction of the Xeaxis

n

(i) Rotation through an angle of 3 about the origin in the clockwise direction.

The final position of the point P is

Dodeyy Pl J) SGnm (Jod HAiSSSotk Tedhdos

(i) »oiddp y=x dyate wodddo

() X-mED Fardpe 036" 3 Sy wf Hdrodd HOBEH
(i) faro DuthipZe (BEER 846" T H'mod’ wime HOLYS
o Doded P o0 o

{ﬁﬁn ﬁ-ﬁ]
(1) 5 &

(%)
@\ 7'h

2
g 6443 1-643 _ 643 -1 6443
(3) 1 W 2 {4} 2 T
_*—_—__“
Rough Work
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M\

65. The locus of the centroid of the triangle with vertices at (a cos 0, a sin 8), (b sin 0, — b cos 0)
and (1, 0) is (Here O is a parameter)

(acos,asin®), (bsin®, -bceosB),(1,0) o 54 ﬁg'm fo (Bzhewy SoEegrod
Wody REo (mE4 B &F DOoRE)

(1) Bx+1P+9 =g+ (2) (3x =10 + 9y =2a? - b
(3) (3x = 1) + 9yt = a? + p* (@) (3x+ 1)? + oyt = 2% - B’

66. If the mean and variance of a binomial variate X are 8 and 4 respectively then
FXx<3=

Xoda S:§g50, 03 )8 S03m 8, 4 5035 8338 ook vond wdyds P(X<3)=

263 13
m s @ Jis
697 265
O @) i

67. A random variable X has the probability distribution given below. Its vanance is
P cﬁr-ﬂ;}ﬂﬂg doo? X Doyrige dyredo (Jod Hdhudod. ow JR 8

X [1]2]3]4]s
PX=x) [k |2k | 3k |2k [k

16 4 3 10
(1) = 2) 3 E?:} 3 4) 3
HKough Work
E 2014 D 2l Q
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68,

M\

A candidate takes three tests in succession and the probability of passing the first fest is p

. ; : P ;
The probability of passing each succeeding test 15 p or 3 according as he passes or fails

in the preceding one. The candidate is selected if he passes at least two tests, The probability
that the candidate 1s selected is

o8 wifpd Hdvhm durds DO en ordnd, Bwdd DEE A8HEThy Powrghd
p. Bosd BES adgdiec, asdid s¥dSboD wprddd dogd DOLS

885608 DowrdSgder IHBM p, %. wiigs JobEd €dBo Tody voY o
a8 v, of o¥gld JobEtdg DoyrSgd
(1) p%2 - p) ) p2-p) (3 p+p+p (@) p-P)

69,

A six-faced unbiased die is thrown twice and the sum of the numbers appearing on the
upper face is obscrved to be 7. The probability that the number 3 has appeared at least once

is
&8 wo: Sngre i OGS Todd H8od, o Suyo Do BD 4D
powgo WNdo T SSsRoat. 8" 5'5‘.311 aEyaroar 3 :'ﬁi_] :JDI,I‘;SEﬁ-
1

(4) 3

1

1 1
M @ 3 ®) 3

0,

If A, B and C are mutually exclusive and exhaustive evenis of a random experiment such
that pmy-; B(A) ‘and F{ﬂ}r%P{B] then P(A L C) =

A, B, Con 2 Srd)uys (BTrAod®™ BERyY 2388 Jrgeedor wpdr,
1'(11}:3;-P(ﬁ}. P[E}u%}’{ﬂ] oThgts sl edypd PAV(O)= |

10 3 6 £ B
M 3 (2) EE 3 3 @ 3
Rough Work
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A\

n i
...... , %, are n vbservations such that E 111 =400 and z X =80 then the least

e Wi
=] i=l
value of n is
n 1]
n H0Reodben Xis Xy sreriny x o Zx_? =400 E“Fm sond n goa Jeud
i=1 =l
(1) 18 (2) 12 (3) 15 (4) 16

72. The mecan of four observations is 3. If the sum of the squares of these observations 1s 48
then their standard deviation is

Jently B08odo Sdzdio 3w H0%odo doe Bodo 48 wond ¢ Fi
(P3rdE) IS0l

(1) 7 @) 2 3 A 4) 5

73. The shortest distance between the skew lines
F=(i+2j+3k)+1(i+3j+2k) and F=(4i+5j+6k)+t(2i+3j+k) is
orud Jpw
F=(i+2+3R)+Ui+3+2K). T=Ei+5+6R)+ 12 +3j+K) o Sy 98 &rdo
(N Js 2) 3 (3) 243 (CYRNE!

P

74. If %, ¥, ¢ are non-zéro rcal numbers, a=xi+2j, b=yj+3k and €=xi+yj+zk arc such
that axbe=zi-3j+k then [abg) =
X,y 200 A e S8 o Sopge, A=xi+2), b=yj+3k, C=xi+yj+k @ ixh=2i-3j+k
wolges eod wdypds [AbE] =
(1) 3 (2) 10 (3) 9 (4) 6

Rough Work
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M

75. If §,b and § are vectors with magnitudes 2, 3 and 4 respectively then the l‘u_‘:ﬁl upper bound
- - |
of [a-b[? +1b—E|z+’E—ﬂ-!I among the given values is
1
a,b,Te HHHM2,3,4 505, m0 05 HOLDH whyd [F-bE+[b-5P+c a5
S wg Jeodedt agSBNs
i1y 93 . (2) 97
(3) 87 (4) 90
76. The angle between the lines = (2i —3j+ k) + A (i + 4]+ 3k) and F=(i - J+2K) +p(i+ 2 3k
15
oY e F=(2 - J+R)+A(+45+38), t=(i—)+20+p(i+2-30) = Sagf g€ mo
b 4
(h = 2) cos~!| 2 ]
2 & [?ﬁ'
I n
o (%) ;
, % s
77, If &b and § are non-coplanar vectors and if d is sueh that E=£{I+E+E} and
N = P
u-;{b+c+d] where x and y are non-zero real numbers, then xi}'ﬂ-'-l- b+c+d)=
i.b, tm Ddbalres o0 S84 wndr, d udo E=-:;|[E+E+E], E=—I-{E+E+H]
¥
oThgt do8 (mothd® X, yen WB) o2 B3 opges) wdpd $H+E+E+E]=
() 3@ (2) -3 (3) 0 (4) 23
Rough Work
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N

78. Three non-zero non-collinear vectors , b, are such that 7+ 3b is collinear with g, while
3b +2¢ is collinear with 3. Then a+3b+2¢=
ABboiressen Sardy drdgdd H04w a,b, oo T+3b D04 §8 2TDabomd,
Ib+26 28T 58 pIboborsr doderayon. B Pd F+3b+2 =

o (2) 23
(3) 3b (4) 4%

79. Ifin a triangle ABC, v = 2, r, = 3 and r; = 6 then a =
nf (Bthzo ABCS' r =2, r,=3, r, =6 wond wdypd a=
A1) 4 (2) 1
(3) 2 (4) 3

—

80. If the angles of a triangle are in the ratio 1 : 1 : 4 then the ratio of the perimeter of the

triangle to itg largest side is

&8 (Behudne'y Boros 1114 9238¢° a0® edypd e By e
Fodh oR 8d ag therdd fdo Jand

(1) J342043 (2) 3:2
(3, J342:2 4 JS3+2:3
Rough Work
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8l

o\

PHYSICS
A closed pipe is suddenly opencd and changed 1o an open pipe of same length, The fundamental
frequency of the resulting open pipe is less than that of 3™ harmonic of the earlier ¢losed

pipe by 35 Hz. Then, the value of fundamental frequency of the closed pipc is

w8 2rND Moo Trodm S85wd, vl &85 o 360N Fgom Srdyudod.
2080om SE05 fbo Waly ey ErRipoge. Swodd darbd 28S Py
Fgo xg)y 33 vlbgio So¥ 55 Hz 4%5m dold, whypd Lardd Abo
Sy PrENE PIipSgoe TinY) Jood

(1) 165 Hz (2) 110 Hz

(3) 55 Hz (4) 220 Hz

82

A convex lens has its radii of curvature equal. The focal length of the lens is £ If it is
divided vertically into two identical plano-convex lenses by cutting it, then the focal length

of the plano-convex lens is (u = the refractive index of the material of the lens)

L Dogrsrd Sofo Ty Sfe Fgrgros Lo 08 ofgoddio [ od
Sbdy RO Tod RERIrIZd Didode Hogrdd doddoon DdyHeo
Jedoriim Joypdd, shypd 58 St Logrsd €h4o Glof) amzfpodddn
(p= 0¥ dordo TWof) L8455 mdo)

(1) £ (<)

I || ==

(3) 2f @ (u-nf

Rough Work
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83. A thin converging lens of focal length f= 25 cm forms the image of an objcct on a screen

EAMCET Rank Estimator

placed at a distance of 75 cm from the lens. The screen is moved closer to the lens by a
distance of 25 cm. The distance through which the object has to be shified so that its image
on the screen is sharp again is

(1) 375 em (2) 16.25 em

(3) 125 cm (4) 13.5cm

=25 cm >fgoddind) a8 Doodd whI0E S6¢an Il 75 ot drdoct
VI) BE Dd 28 s/ sy 93 Dowdwn i dizes, SShas BEs
SOPE S8 wBhgbin 25 o.ds 20B0ASE. & 38 Nud (2@Donsn S0by
D3dom HosaE Lt 2453093 drde

(1) 375 %a.ln, (2) 16.25 %0.9s.

(3 125 o.ds. (4) 13.5 =0.5s.

44. In a double slit interference experiment, the fringe width abtained with a light of wavelength
5900 A was 1.2 mm for parallel narrow slits placed 2 mm apart. In this arrangement, if the slit
scparation 15 increased by one-and-half times the previous value, then the fringe width is

*8 mob DO HgBfdn BWrAos' BIrods BE1D HOLe dogdg ddo 2 2o.d
ORYBpd 5900 A ddonBggo Ao 5038 Fobs b Fdeoy 1.220.00. 6 Jovyiwd®,
wdge sogle ddons Swoddy dued s w8850 Bed Dood, WD P 'Eag oy

(1) 09 mm (2) 0.8 mm

(37 L8 mm .H:' 1.6 mm

E — —_ B e — —— T —mrs:
Rough Work

EAMEEPMock Counselling  www.nethgdjin EAMCET Rank Estimator


http://admission.aglasem.com
http://admission.aglasem.com/

EAMCET Rank Estimator www.nEbadi.in EAMCET Mock Counselling

#5. A charge Q is divided into two charges q and Q - q. The value of q such that the force

between them is maximum, 15

w8 Ddogh wddin Q Tods Ddph uTflive q 2000 Q-qm JFEcdndis.
& dodd Hdg woo M0 IwT dodobi, Jdipd oTddn q Tod) Dewd

M Q @ 3
{3) %', (4) %‘-

B6. Two concentric hollow spherical shells have radii r and R (R » 1) A charge Q Is distributed
on them such that the surface charge dénsities are equal. The electric potential at the centre

s

2% Boiddn 003 Dods My Kensrd €0 0300 agrdsnes r 528650 R(Ror).
a8 adldo uTd Jodd HIrdom doden, Q uBidn Dddndn Johwdss.
wbypde, Bo@do H¢ Ddoph Sropdid

QR +1) Q(R? + 1)
(1} dne, (R2 +1%) @ dne (R+1)
0§ @ 0

e e —————— e T
Rough Work
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87. Wires A and B have resistivitics P, and pg, (py = 2p a) and have lengths ¢ aand 7p. If the

diameter of the wire B is twice that of A and the two wires have same resistance, then iﬂ-

= EA
IS5

PEPD £, Fy Ao Ao A S:8din Bo D5ELdm Par Pps (P =2p,). B 84
TgRBe A 84 wgdinds Dol HOE Tods B IF'Eswes LErEIH,

L1y 2 - (2) 1
(3) 172 (4) 1/4

88. In the circuit shown, the heat produced in 5 ohms resistance due to current through it is
5:#]- I/s. Then the heat generated/second in 2 ohms resistance is

B8 Sroedy Sodiodt, o Darirdn dud S Loy DE'G %o AT St
Vo3 AIN 50 Y% wowdd, BHe' 2 L5y ovgor 4533 wond argﬁ::

—p
A AMA———A ?
2 {ohms) 8 {ohms)
-L_ F e ——
5 {ohms)
ik
D -y C
II
(1) 5Ws (2) 4 s (3) 9 s (4) 10 Jis
_“_————-__“

Rough Work
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8% A steady current flows in a long wire. It is bent into a circular loop of one tumn and the
magnetic ficld at the centre of the coil is B. If the same wire is bent into a circular loop

of n wrns, the magnetic field at the centre of the coil is

2f PEIS BAS DofBI D8RS (DI I00. v 84 D8 W S)oved ordm
Sodwdid. ol Toddn 3d wohdpod Fdo Dewd B wd 8dS n waboes
fo Symsdd ordo odd ol Soddn 58 J0yd wdbdpod Fido

(1) Bin (2) nB (1) ob? 4) o'B

Y0, An electrically charged particle enters into o uniform magnetic induction ficld in a direction
perpendicular to the field with a velocity V. Then, it travels

(1) in a straight line without acceleration

(2} with force in the direction of the ficld

(3) in a circular path with a radius directly proportional 1o V*

(4) in a circular path with a radius directly proportional to its velocity

D 3esSn Johwdd of Spdn of O¥88 vdhidpod (Wi T(Bodts 8
845 vonddd’ V Jred 23500, FErdined uwb

(1) $38mo Bhoar H6Y Bps' (dalrdinod

() L 04t noed [Hatrddios

(3) avpddo V8 whdsrdeddodt Hod S)emsd srdod® (Hatrdinod

(4) apdrdo Frdd whd'Srdddod Hold Sersd Srdod Hardipod

Rough Work
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91. At a certain place, the angle of dip is 60° and the horizontal component of earth's magnetic
ficld (By,) is 0.8 » 1074 T. The earth’s overall magnetic fleld is

w578 ood'. 38 Fao 60° Hi0din Pr wabdyod L8z BAredd povoddn
(B)08%10*T wond 2ir wolirpod 3Jndo g 1850

(1) 1.5=104T (2) 16% 107 T
(3) 1.5=10°T (4) 1.6 10T

92. Acoil of wire of radius r has 600 turns and & self inductance of 108 mH. The self inductance
of a coil with same radius and 500 wms i

tEgardan, 600 Ssguen £ONS, 2.6 84 b Wng) Heowo (HIES 108 mH, o
Fgrdose 56°¢ a4 Saud* 500 oboeo dinidy o0 Dgofio Lods

(1) 80 mH (2) 75 mH
(3) 108 mH (4) 90 mH

23. A capacitor 50 pF is connected to a power source V = 220 sin 50 1 (V in volt, t in second).
The value of rms current (in Amperes)
V=220sin 50 1(V S'ened®, 1 R0 d™) 358 23508 SOUF fo E%45 Sogsse
dahnddo. wond 3¢ Sagg ¢ Saroo (mms) W&gd (Dariro Dend (mobabddh)

J2
(1) u—j'gﬂ (2) 0.55A
3) 2 M) mf A
Rough Work
£ 2014 D - . 31 Q

EAMCET Mock Counselling www.netbadi.in EAMCET Rank Estimator


http://admission.aglasem.com
http://admission.aglasem.com/

EAMCET Rank Estimator www.niEadi.in EAMCET Mock Counselling

94. The electric field for an clectromagnetic wave in free space is E=] 30cos (kz - 5x10%1)
where magnitude of E is in V/m. The magnitude of wave vector, k is (velocity of em wave
in free space = 3 » 10 m/s)

%sﬂ-‘}ﬁ‘ﬁihﬁ* ©§ Jdgdcirim ol dfodo D&gs F 80 E=130cos(kz—3x10%1).
ES0drne Sgu/dbded® Hhod, ddod H04 Doy k dms -L‘ﬁ&smgﬁ'ﬁhcﬁ‘
dapdalrdy ol ddod Fdo =3 % 10° m/e)

(1) 0.46 rad m™ (2) 3 rad m™!

(3) 1.66 rad m™ (4) 0.8 rad m™'

95. The energy of a photon is cqual to the kinetic energy of a proton. If & is the
de Broglic wavelength of a proton, A, the wavelength associated with the photon, and if the
energy of the photon is E, then (A, /4,) is proportional to
Perd Tof) A8 28 oS Tody A8ud88 Ddrssn, el T, A4
ddodBdgo A, Jars TIE dfofigdge A, Ja0chn, Frds Gloly 48 E
wond (A/A,) wsdsod® 4cds
(1) E' (2) EV
(3) E? (4) E

Rough Work
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96. The radius of the first orbit of hydrogen is ry,, and the energy in the ground state is

~13.6 ¢V, Considering a u -particle with a mass 207 my, revolving round a proton as in
Hydrogen atom, the energy and radius of proton and p~ mmbma:mn respectively in the first
orbit are (assume nucleus to be stationary)

Ind'es Way Inde Spgggo n, 5000w Frrond® 18 -13.6cV. & ud
2EIrme Sl o (@R Sogr 207 m . |BEga R 5y 28 p” dmo Bl TP PR AT
w5:fol, Inded ¢ gt PrerS-p Dowray 18, Tgrgo SShm (SodLdn
pOSum a8 iod)

(1) -13.6 = 207 &V, _H-Iﬂ'.r (2) =207 x 13.6 eV, 207 1,,
=136 J - 136
o ._c'l‘l'._lj_.

@ 207 V207 @ —gp V207

27, I the radius of a nuclens with mass number 125 is 1.5 Fermi, then radius of a nucleus with
mass number 64 is
125 |6355078 Dowg fle Soslo agardo 15 0 wund, 64 Gig0md mopgie
So(dd argdrdo

(1) 048 Fermi (2} 0.96 Fermi (3) 1.92 Fermi (4) 1.2 Fermi

e —

98. A crystal of intrinsic silicon at room temperature has a carrier concentration of 1.6 * 10"8/m?.
If the donor concentration level is 4.8 x 10*%/m’, then the concentration of holes in the
semiconductor is
A0 @S 3¢ af Dgarde HOD 50880 16%10%m' iremg s sDAH0B.

ol iy m#ﬁg‘w 4.8 * 10¥%m® eond, uga“-’rﬁﬂé' do|gre TwE) mdd

(1) 53 = 10'%m? @ 4=10"m? (3 4=10%m @) 53 =10}

Rough Work
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99, The output charactenistics of an n-p-n transisior represent, [1. = Collector current,
Vg = potential difference between collector and emitter, I, = Base current, Vgp = voltage
given 1o base; Vg = the potential difference between base and emitter]

(1) Change in [. as I, and Vg are change:d

‘{1]1 Changes in 1, with changes in Vep (I, = constant)
(3) Changes in [, with changes in Via

(4) Change in I 85 V. is changed

¥ n-pn (@rUHH 5 By A ofme LrdoTo [li= hedd dbadro,
vu,:=“i:=§cfr£-ag16§u Sxdp eychd Hao, Iy = wgrd Qs |mTwro,
Vop ~ ¥erdod EHJ E'gﬂ: Ve ™ ogrdol agrdfo Sudp 2BJuhLS Fdo)

(1) 1, #0080 Vo 08" Srdnes Fddypd 106° Srdyes
(2) Vep Srdoy Thgdyhds 1. 6* drdiges (=S80

(3) V. Srdy ﬁ*ﬂjﬁlmda I 6* Srdiyes

(4) Ve &0doy Dhodylpdo 6% Srdayen

100. A T.V transmitting Antenna is 128 m tall. If the receiving Antenna is at the ground level,
the maximum distance between them for satisfactory communication in L.0.S. mode is,
(Radius of the carth = 6.4 = 10°% m)

=% TV Ho3ovoud mardo @0 (9 woda Jd 128 m rd wodae
Fgrrond® aoB, 8yh Tor g8 Todod Hogy BodyBEIHS (BIVo
§%0. v Todod fudg dodlobd H0H drdiw @rd ogddo =64 x 10°m)

128 B4
) G4%10 km (2) Jﬁ""’ (3) 128xJ10km (4) :ﬁﬁ““
Hl}ugil Wiork
E20I4D 340
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101. A wheel which is initially at rest is subjected to & constant angular acccleration about its
axis. It rotates through an angle of 15° in time 1 secs. The increase in angle through which

it rotates in the next 2t secs 15

Diyo HAS Sod) ef SESN oD edn ddom RIS ol Sgdmdnih
(Do S Honsdss, b t nfHed 15° Feo oo ([FeeEw Swsa.
LB 2 Rimost ebd Phesdy Thidpd woAS Fede

(1) 90° (2) 120° (3) 30° (4) 45°

.

102. A thin wire of length [ having linear density p is bent into a cireular loop with C
as its centre, a5 shown in figure. The moment of inertia of the loop about the line
AD 15
HbSHS' Irudes, dy ! S0de dhdls o888 p o aE 2338 &S
C dogsnm Ao SydSem sodndss, AB T Jood o wddg FSEID

Spk pf |
M e @ 6t
pt’ ’ 3t
(3) '&F (4) .
B —_ e ———— R ———
Rough Work
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103. The ratio between kinetic and potential energies of a body executing simple

" : " , Py .
armonic motion, when it is at a distance of N of its amplitude from the mean position

wf L I
DAk Rd Io %08 Fobd HAMLAS N 908 drsedt adybypds, Hdd

rodd Jodo IDH uf smY sy dBz, P82 fHe 033

2 1
(1) N°+] (2) N2
(3) N2 #) N?=]

104. A satellite is revolving very close to a planet of density p. The period of revolution of
satellite is ‘

P Fodd Ao o (Hrdn SHer o SHES* w¥ aBADrSn Wmo T&vos.
vondS o adfirin Tog) eI soswe

Jnp in
(1) — ey
& rﬂ] 2pG
n 3nG
®) Vo5 @ =
Roupgh Work _ —
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105, Two wires of the same material and length but diameters in the ratio 1 : 2 are stretched by
the same force. The elastic potential energy per unit volume for the two wires when stretched
by the same force will be in the ratio

.3 ‘i’&mgﬁmﬂ‘ dahnd 0w =3 dYp 00, oD od oghdoo 1:2
9%386° o Tods HAw o8 weod® PAbENAID. &T vodnd FASHID G
m Tods 8dod [bire b H0&rerdd Ho $8 FBY Po=ino Jnyd

(1) 1ol {?]1:! 3) 2:1 (4) 4 -1

106. When a big drop of water is formed from n small drops of water, the energy loss is 3E,
where E is the energy of the bigger drop. Il R is the radius of the bigger drop and r is the
radius of the smaller drop, then number of smaller drops (n) is

n 95y A8 Dodbifpen £0% wf g Dok 8830 pde 98 550 IE a8 d
E g D8 Dok ¥3. g N8 Dodd) timEy grdan R, 03y 28 Doy
Fggsn r vond, wdyd: 03) V8 DochPe Bowg (n)

4R 4R IR 2 4R?
o o i . 4 P e S
(1) 2 (2) = {E!—} 1_ (4) 2

107. A stcam at 100°C is passed into 1 kg of water eontained in a calorimeter of water equivalent
0.2 kg at 9°C, till the temperature of the calorimeler and water in it is increased to 90°C.
The mass of steam condensed in kg is nearly (sp. heat of water = 1 cal/g-°C, Latent heat
of vaporisation = 540 cal/g) .

100°C 8&4HS do N8 @B 0.2 & mo SHorgofdn, ¥°C adhid do B0
Dubst ey | e (B3g08 Ao NOS'DS, BTS00l oSN D8 afhid
90°CE DOT 36H DodESS. (BIYSS0 VobdH A8 I8 TwE) (SdHgod
g rest oo D8 8L sn = 1 3S0/a-°C. D8 gl wss
Madh o = 540 3Sfe/m)

(1) 0.%81 (2) 0,18 (3) 0.27 (4) 0.54
—_.-__._._-__—-_u——-_-_—_
Rough Work
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108. A very small hole in an electric furnace is used for heating metals. The hole nearly acts as
a black body. The area of the hole is 200 mm’. To keep a metal at 727°C, heat energy
Howing through this hole per see, in joules is (o = 5.67 * 10°% Wm %)
w8 Ddogh 5Ot ¥ D5y Solgrwy ¢'Fed F4 Jdeern? srdieds o
dodan orordym e S™mEm ﬁﬁﬂﬁa__nb. o Joidy Broghn 200 mmd. ¥
) TT°C 4S8 56 doSerds u Sogdn oo wf DY (B30
62 IE Gy (o= 5.67 % 107° Wm k™)

(1) 22.68 (2) 2268 (3) 1.134 (4) 11.34

109. Five moles of Hydrogen initially at STP is compressed adiabatically so that its temperature
becomes 673 K. The increase in internal energy of the gas, in Kilo Joules is

(R = 8.3 Jmole-K; v = 1.4 for diatomic gas)

Swd STP 54 ady) ndh Irdy v &fab iﬁ'ﬁ.ﬁ P@ch orgo ood adfid
673 K wThow dobddio Jahwdss. v aaud) woddd 4584 wdilido, 48
Ly, (R =83 JmoleKi v = 1.4 8gd83ra odbud)

(1) 80.5 (2) 21.55 (3) 41.50 (4) 65.55

118. The volume of one mole of the gas is changed from V to 2 V at constan pressure P I
1 is the ratio of specific heats of the gas, change in internal energy ol the gas is

8 Srd ding T d H0Srma, P B¢ bddo 34, V #o0 2VE
ArdHudid. sdod) Tod) IEFHSoe D438 ¥ vond, o ﬂ‘ﬁﬁ.}:ﬁ_} so3gd

55 drdoy
r-PY R PV
DS — s
(1) = (2) g (3) BV (4) ¥—1
Rough Work
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I11. A bus moving on a level road with a velocity V can be stopped at a distance of x, by the
application of a retarding force F. The load on the bus is increased by 25% by boarding the
passengers. Now, if the bus is moving with the same speed and if the same retarding force
is applied, the distance travelled by the bus before it stops is,

piidoom dod w¥ 8¢ b V Tdtas S0%S) vty 5008 vodn Fis
RTPACD X &r¥od’ wdsd. (Bardhok Jijodeded oy Prdsn
23% "D0AS0. adyds vy 8 IS (Hhwdr S0 vl 088 vordy
BTraT, » o)y whodh nod Pordod Srodwe

(1) 1.25x I_'E] X
(3) S5x (4) 2.5x

112. A cannon shell fired breaks into two equal parts at its highest point. One part retraces the
path to the cannon with kinetic energy E, and kinetic energy of the second part is E,.
Relation between E':I and E‘.2 is

woyedd of Hdoih ot o 0D Jdy Dodey) 34 Tods RIr3 fidwesm
JE&cwind. E, d8=488" o8 ridn DS86N wl drdodst Ddonn Jose.
Jods wridw Adwidl E,. E, &bdo Eeo Sigy Domogsdn

() E, = I5E, (2) B, =E,

(3) E, = 4E, (4) E, =9E,

Rough Work
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113. The force required to move a body up a rough inclined planc is double the force required
to prevent the body from sliding down the plane. The coefficient of friction when the angle

of inclination of the planc 1s 60° is

of A8:8 oo dodn Twd Fede 60°. T ol SHHS Sodh wikow
sodardi Tiohd vodn Yol. i 2HRPL%h Tiobd vodn BPod vond

v gw dodnDd Pdo hofdo

|
). 77

ml_

(1)

|
® @ 3

114. A mass M kg 13 suspended by a weightless string. The honzontal force required to hold the
mass at 60° with the vertical 1s

wf 38 E%rd BG Mkp ($8550°8 o of Stgdde Fodbrs wbdypd
.‘Ddg:ﬁmé—_}ﬁ‘ 60° FPmod® m (5o 8D Rodardd slobd 8z Sdroedd woo

(1) Mg (2) Mgy3
M
(3) Mg(3+1) (4) 'Jf’
Rough Work il
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115, A body is projected at an angle © so that its range is maximum. If T is the time of flight

then the value of maximum range is (acceleration due 1o gravity = g)

of SHHBe 0 Fwod A63 Tgh Doddew (DEDSw Jdbadod. wd i
gud Au#o soduw T BoNd TN 0w ﬂ‘a'ﬁ-&_ wosd (fadidy dgdman =g

2 T

gl gl

m & @ 5
2 -

el 4y E T
:23} = (4) ~

116. The path of a projectile is given by the equation ¥ = ax — bx?, where 4 and b are constants
and % and y are respectively horizontal and vertical distances of projectile from the point
of projection. The maximum height attained by the projectile and the angle of projection are

r{'.:-:Il-L,-L"li'l.rE'E}'

x So0cin you DEDE Pdo Hod Sdam HE8ESn Twg) 8= diradd
83¢6° Grddw, AImY bB4S" drdin wond 8 (DFDI0 Ty Do
y=ax = bx! ad Hd:¥deds TyT BRgRAN0. modd® a, b o :gn-nsr:h:m.
HEosse J6% A0h I8 oy PEVY Fedwo Hdbm

Ty ® hi
L - 2 tan V(b
(1) =g+un (a) {F} e (b}
2 a2
il . I L =]
(3) b tan "(2b) (4) T an~ (a)
e ——— e e
[Rough Work
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117, Veloeity (v) versus displacement (x) plot of a body moving along a straight line is as shown
in the graph. The corresponding plot of acceleration (a) as a function of displacement (x) is

goan Brdodt SOMSY ad SHh WLy Fdo (v) FS Pore (x) Sxdg ADS
S|F0, Bhod® Urhd AESum dobd. u SH Stieo (1) W FTHIFoTe (x)
g_ﬁﬁ.}n‘ﬂaum NS & o Hriod Héo

M
Ly
Velocity .
0 100 200 4
s Displacement a
(1) : 1 (2)
: : Accelertion
Acceleration : :
| E
I | > 0 ;
0 100 200 Displacemen
- Displacement < i I
i '
e ')
Acceleration :
| 100 400 '
(3) 0 , o Displacement (4) ;
Acceleration '
|
-
0 100 200 X%
W Displacement
Rough Work
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118. A person walks along a straight road from his house 1o a market 2.5 kms away with a speed
of 5 km/hr and instantly turns back and reaches his house with a speed of 7.5 kins/hr. The

average speed of the person during the time interval 0 to 50 minutes is (in m/sec)

L€ 5g8 83)0 6°dy Doo &5 =od8 Hod 2.5 Sk &rod &3 3008
£ 2hilo Bred 580 Jobd F500A mosdd 7.5 g hafe FAdaed Doda
0 #3090 50 Divaro s'uﬁg'a&ﬁné* wdd Bt Fdo (D pedh

-

5
(1) 43 (2) 3

3 |
3 7 @ 3

119, If C the velocity of light, h Planck’s constant and G Gravitational constant are taken as

fundamental quantities, then the dimensional formula of mass I%

o8 dnswe C. Q"I}E 'Egﬂ‘ﬁ#i'm h, S:0cin Mhbegidn !inu'a.'!':m G ons
e oriboonr BMuBol, ebypdr (S3g0rEE Rd FonT

(n h-12G- 120 (2) h""E"’G' 2

[3} h—]‘!’lclﬂa*lﬂ '-:4] h-lﬂc—lﬂﬁ-tﬂ

Rough Work
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120. Match the tollowing (Take the relative strength of the strongest fundamental forces in
malure as one)

2 B
Fundamental forces in nature Relative strength
(a) Strong nuclear force (&) 10
(b) Weak nuclear force M 1
(c) Electromagnetic force (g) 10w
(d) Gravitational force (h) 1o

G 10

Fo8 UL 23BEI0d (DA (P DY verodt wdpod BOIDS vedw
Thagy rRE D8gswn wim 8%f'od

A B
BEPE'D  rENE vorw PoE Sigsn
(0} |boo Jod sodn fe) 107
() Sdye Tod vosn 0 1
(€) PHagdairiod podw (g) 10"

(d) hlegide wode (h) 109
(i) 10¥

The correct match is :

28 HOTHE oy

(1) (al=(0). (b)-(i), (c)-(e), (d)-(h)
(2) (a)-(D), (b)-(h), (e)-(€), (d)-(h)
(3) (a)=(0), (b)-(h), (e)-(e), (d)-(i)
(#) @0, (b)), (©)-(h), (d)-()

Rough Work
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CHEMISTRY

121. What is 7 in the following reaction sequence ?
Bod dog Lﬂmuﬁ‘ z '..‘.:.4:.:?

(i) NaNO, + HCI273 K
CHNH, 1
(i) H,PO, + H,0

{iii) CO, HCl; anhydrous hiﬂllfﬂu{.ll

EAMCET Mock Counselling

vy
(1) CﬁlljUDEH (2) EﬁHEGH (3) L‘ﬁHSEHD (4) EI&HE
ether H,0%
122.H,CMgBr + CO, 2T,y 37
Identify 7. from the following :
(1} Ethyl acetate (2) Acetic acul
(3) Propanoic acid (4) Mecthyl acetate
()
H.,O
H:,_‘-':MEBI' + Cﬂz s 686 3Y —t—a I
Bobars HSi0d Zao dadoRiw !
{1} 'HEIE oy (2) angE w30
(3) Lﬂ';‘}:fumﬁ uiﬁa::r {4) &Eﬁ ALY
— — M
Rough Work
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123. X Y, Benzoguinone
Hﬂhﬂﬂsﬁ"ﬁ
identify X and Y in the above reaction -
B Sdgdt X Ho0dn Yol dmoomswe
X Y

H

Zn

Hﬂ:ErIﬂT}HIED L

H
(3) 6 Na,Cr,0./H,50,

(1) ' ,J Zn
.

Hough Work
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. Hi
124. EBII}-w-—\!’.}l—l.;HEEH3 -1 Y+ Z

Identify ¥ and Z in the above reaction :

T S0gst Y 300uin Zods H:fo0Rsw

Y Z
(1) CH,OlH H,CCH,
(2) C,H,l CH,CHO
(3) CH,l H,CCH,0H
(4) C,H,OH H,CCH,|

125. Which one of the following is more readily hydrolysed by S, mechanism 7
Boh addt 28 5 Sog Jgrdo orgor mB fwogfor o Y3as Soddwnhd?
(1) (CH),C(CH,)Br
(2) C,H,CH,Br
(3) C H CH(CH,)Br

(4) (C,H),CHBr

Rough Work
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126. What are the substances which mimic the natural chemical messengers 7

(1) Antibiotics

(3) Aponists

{2) Antagonists

(4) Receptors

RiIre SN B3rEE PEses usilno 3 bargros WHE

(1) @rofacirdEa

(3) wodl Dl

127, Lactose is a disaccharide of
( i) a-L-Glucose and a-D-Fructose
(3) w@-D-Glucose and p-D-Ribose
gl W) BTEDE.
(1) a-D-dre*d Bo008» a-D-HE's

(3) o-D-fir8'E Se8cfr P-D-Bus'S

(2} wodd ddifswe

(4} oo

(2) P-D-Glucose and fi-D-Galactose

(4) 0-D-Glucose and p-D-Galactose

(2) B-D-ArE'S Scbasw P-Dimos's

(4) a-D-§r&'E Bi0dn f-D-rog's

124, Identify the copolymer from the following :
Bodad Scd DI85 il ofysn ¢

(n -[-CHI-EH=CH-—CH=—IIZH—EH1—]}‘

(2) [CFy-CF)

(4) CH,CH,
Cl

CeH,
(3) +CH l—tli‘.";EH—EH ~+
Cl
Rough Work
E2014 D
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129, Match the l'nlluwlng -

List-I
(A) sp’
(B) dsp’
(C) sp'd*
(D) disp’

Sol o83 el nthchin ;

adoe 1
(A) sp’
(B) dsp’
() sp'd?

(D) dsp’

The correct answer 15 :

ad BOTHI Rargrio

(A) (B) (©) (D)

M am @ avy M

List-11
(1) [Co(NH,)]*
(I} [Mi{Co),]
(I [PH(NH,).C1)
(IV) [CoF,]*
(V) [Fe(Co)]

Do 11
(1) [Co(NH),J*
(1) [Ni(Co),]
(I} [Pt{NH,),CL,]
(IV) [CoF,}’
(¥) [Fe(Co),l

() (v) an (v (m
(3) (np mn oavy (5
(@) (1p (W (@ (V)

e ————— e —————

Rough Work
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130. Which one of the following ions has same number of unpaired electrons as those present

in V** jon 7

fod 88" 0 edrSSY wobd Jugbo popg, V' wairSe'D wowo
Juﬁ';ﬁu :’anm;ﬁa RErHe

(1) Fe't (2) Ni*

(3) Ma™ : 4 cr

131 The structure of XeOF, is
(1) Trigonal bipyramidal
(2) Square planar
(3} Square pyramidal
(4) Pyramidal
XeOF, QoS0
(1) 950 BLEHES
(2) "eedo dd(Ro
(3) Sddn DS

(4) LEDES

Rough Work
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D\

132. The charring of sugar takes place when treated with concentrated H,S0,. What is the type
of reaction involved in it ?

(1) Dehydration rcaction

(£} Hydrolysis reaction

(3} Addition reaction

(4) Disproportionation reaction

S 805 Mg Hy80, 8" S8 2003 0d Sra8dHte. wosd® alkd &l S¥g
D87

(1) :Jflbﬁﬁm ﬁﬁﬂ
(2) =o Ddam $dg
(3) Hofos $dg
(4) wdiodd Sdg

133. What is the role of limestone during the extraction of iron from haematite ore ?
(1) lenching agon |
(2) oxidizing agent
« (3) reducing agent
(4) flux
B o Hod adedn JG)dwod® LodyHoow drg Dol
(1) Agvd s~8do
(2) wiysod
(3) Sd80c
(4) |SusB

Rough Work
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134. In an atom the order of incrcasing cnergy of clectrons with quantum numbers (1) n = 4,
l=1{yn=41=0G0G)n=31=2and(iVin=3,1=1s

a8 DISrHS (n=4,/=1(iijn=4,/=0(i)n=3,/=2 B0 (iV)n=3,/=]
FgoLo Rowgw fo Jogee I3 WO S8

(1) (i) < (i) < (iv) < (ii) () (i) = (iv) < (i) < (i)

(3) (i) = (i1} = (i) =< (iv) (4) (iv) = (i) < (iii) < (i)

135. The number of angular and radial nodes of 4d orbital respectively are
4d wbyerd, ol S0cin Jaohd e Domges SSnm
(1) 3,1 (2) 1,2 (3) 3,0 (4) 2,1

136. The oxidation state and covalency of Al in Iﬂlﬂiﬂlzﬂ}jli* are respectively
[AICI(H,0)J*"s" Al Twg), uiyédehad Hbdn dHTraddadn Sdbor
(I} +6. 6 {2_} +3, 6 (3) +2, 6 (4) +3,3

137. The increasing order of the atomic radius of Si, 5, Ma, Mg, Al is
Si. §, Na, Mg, Al 0 @8drm ogdrgo W07 Fdo 287

. (1) S<Si<Al<=<Mg<Na (2) Na<Al<Mg<S<3Si
(3) Na<Mg<B5i<Al<5 (4) Na<Mg<Al<B1<3
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138, The number of electrons in the valence shell of the central atom of a molecule is E. The
molecule is

¥ weHetn fo|df D03y Joly €6 0o 8 Jogryhmaonion. & mmd)
(1) BCIL, (2) Bell, (3) SCl, (4) SF,

139. Which one of the following has longest covalent bond distance 7
Boo ardd® WIS wd Of Rod PheTradd wod Bggo aobwod?
(1) ¢—C (2) C—H (3) C—N 4) €—0

140. The ratio of rates of diffusion of gases X and Yis 1 : 5 and that of Yand Zis 1 : 6. The
ratio of rates of diffusion of Z amd X is

X $:005 Y Srosnipe agdsd Te 2238 1:5, Y $0dn Z ordinipo aghd
Bo D638 1:6 wowd Z H0csn X srdude s Ty 93338

(1) 1:30 (2) 1:6 (1) 30:1 (4) 6:1

141. The molecular interactions responsible for hydrogen bonding in HF

(1) ion-induced dipole (2) dipole-dipole
(3) dipole-induced dipole (4) ion-dipole
HFS*D 2o 6'el wogras 6 ydob®h sndeh v vife soe
(1) wcird - (2048 fgighdo (2) dgghdo - bgghdo
(3) Bgigedo - (083 Bgedo (4) woird - bgddo
Rough Wurin
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142, KMnDi reacts with Kl in basic medium to form ]1 and h‘[llﬂr When 250 mL of 0.1 M KI
solution is mixed with 250 mlL of 0.02 M KMnG, in basic medium, what is the number of
moles of l? formed 7

KMnO,, KI&' grocirdgos® Jog 20D 1, MnO,08: J838:m08, s¥drssost
250 mL & 0.1 M Kl (o5er2) 250 mL o 0.02 M KMnO, (orirDf ¥0035d
;555&" ;"ﬁ'auiﬁ , 3rdo Logpg Jod?

(1) 0.015 (2) 0.0075
(3) 0,005 (4) 0.01

143. The oxide of a metal contains 40% of oxygen. The valency of metal is 2. What is the atomic
weight of the metal ?

oE o v 86" A% wiyud Sos. oo EE#J;], 2. wond & E8&reo

erddiod ?
(1) 24 2y 12
(3) 40 (1) 36

144, The temperature in K at which AG = 0, for a given reaction with AH = <20.5 kJ mol™' and
AS = =500 JK™" mol™ is

»€ SOgE AH = 205 ki mol™! Bo0dsn A8 = —50.0 JK™ mol™ wond 4G =0 ui

sEHS Ko

(1) 410 LA2) 410

(3} 2.44 (4) -2.44
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145.In a reaction A + B == C + D, 40% of B has reacted at equilibrium, when 1 mol of A
was heated with | mol of D in a 10 litre closed vessel, The value of Er is

28 $6g A+B==C+Dd", 10bod b3 2S¢* I1molA¥, I molB &
d8 dabr bdier R3 5§ 40% B SEgFodda. K, Dend

[.1} (.44 (2) O.18
(3) 0.22 _ (4) 0.36

146. If the 1onic product of Hil{{}H}I is 1.9 = 1071 the molar solubility of HE[GH}I ml10M
WNaOH is

Ni(OH), ®d$r28 wgo 1.9% 107" wond 1.0 MNaOH (@mod® Ni(OH), Srovb

Lﬂ'ﬁtﬁdi:réi
(1 1.9=107"% M (2) 19102 M
(3) L9 x 10 M (4 19> 10"m

147. Temporary hardness .of water is removed in Clark’s process by adding .

(1) Caunstic Soda (2) Calgon

(3) Borax (4) Lime

HE'E} ﬁ::;ﬂé‘ ha mm&ﬂﬁ Fﬂ%ﬁﬂé;&: Folodadd Soopldh

(1} s=3E For (2) sos

(3) By (4) Hodyo
Rough Work S E =
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148. KO, exhibits paramagnetic behaviour. This is due to the paramagnetic nature of

KO, o wohiryod Soma) [H50 k0d. SR8 TEwOs - omomms RO sofdy ol
peyrHo.

(1) KO- (2) K

(3) O, [‘t} 0;

149. Which one of the following correctly represents the variation of electronegativity (EN) with
atomic number (Z) of group 13 elements ?
e
Ardy 13 faroso HESrm bosg (Z)8° SnddgodyEd (EN) drdopd 367
505030 V07

(£ B
(1) A (4] Ti

Ga Al 1

EN In EN
Tl
Gn

-+ Z -+ 2

() R (4)

Al

In

—+ L —+ L

—_ o — —_— — ————— 1.
T —————— —
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150, Which one of the following elements reacte with steam ?
208 Swrosod® D4 =208 ddp JoBd 247
(1) C (2) Ge
(3) Si (4) Sn

151, What are X and Y in the following reaction ?
CF,Cl, —— X +Y
Bod $¥gS* X H:8050 Yoo W7
CFCl, —— X +Y

(1) CKCLCI 2) C,F, Cl, (3) CFCL,,F (4) «CCl, F,

152. What arc the shapes of ethyne and methane 7
| (1} squarc planar and lincar
(2) tetrahedral and trigonal planar
{;!} lincar and tctrahcdral
. (4) trigonal planar and lincar
HED So0cln DPS Thedy eEySien K37
(1) Sdp vdedvo Sebcin Thaho

(2) ddadaybabe S8dn BF e Bddoo
(3) Bhatro S380in Sty Dl
(4) [Bf'0n Hdrdeoo Sbcin Thubo

e ——— e _—
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153. What is 7 in the following reaction 7

MaDH/ Ca0 y 7

=)
CH,-CH,~CO N ——

(17 propane (2) n-butane
(3) ethane (4) ethyne
Fod dﬁgﬁ' Z 287

CH,-CH,-CO,Nd® 2O 0, 7
(1) &8 (2) n-wrg8s
(3) &T& (4) SBS

l—

154. Which one of the following gives sooty flame on combustion ?
Bos TSt Db Sd Sdgst HBE Erdd erged 23087
() GH, (2) CH,

(3) CH, (4) C/H,
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155. Which one of the following elements on doping with germanium, make it a p-type semiconductor ?
2ob d Sorofod &Sbhofi T, afiddo p-d¥o ewfaririipdeld?
(1) DBi ' (2) Sb
(3) As (4) Ga

I —

156, The molar mass of a solute X in g mol™', if its 1% solution is isolonic with a 5% solution

of canc sugar (molar mass = 342 g mol h, is

% S48 (Frorl ([@dgerd = 342 g mol™) odndnd oFENE wond 1%
THnsndty |ewdse X owE), 3rol 835009 g molTlest

(1) 68.4 (2) 34.2

(3) 1362 {4} 171.2

157, Vapour pressure in mm Hg of 0.1 mole of ureéa in 180 g of water at 25°C is
{The vapour pressure of water at 25°C is 24 mm Hg)

0.1 3rE chrocrss 180 g S8 25°C 38 €0nodm DEYAS |@dn arhybdbo
n:0: Hgs*

(25°C ¢ 88 why bESo 24 mm Hy)

(1) 2376 (2} 20,76
(3) 23.76 (4) 24.76
e ——— e ——
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158. At 208 K the molar conductivities at infinite dilution [h':’“] of NH,Cl, KOH and KCI are
152.8, 272.6 and 149.8 § cm® mol™ respectively. The h":“ of NILOH in 5 ¢m* mol™' and
% digsociation of 0.01 M NH OH with A =251 38 cm’ mol™ ot the same temperature

arc

298 K S¢ NH,Cl, KOH 32080 KClo wd0d8 283 3rerd avdrdd (A Joo Sddor

152.8, 272.6 $20 ¢S 149.8 5 cm? mol™!. NH,OH @) A? S em® mol'o6® 350082
A, =251 Scm?mol™ o 0.01 MNH,OH Te¥; % ITrase v8 adfis o4

(1) 275.6, 0.91 {2) 275.6, 9.1

(3} 26%.6, 9.6 (4) 30, 84

159, In a first order reaction the concentration of the reactant decreases from 0.6 M 1o 0.3 M in
|5 minutes, The time taken for the concentration 1o change from 0.1 M 1o 0.025 M in
minuies is
of (B85 |FSrof S0t Boir 28¥mgs 0.6M Mol 03M D 15 Diwdhdued
efadbo. @R mES 0.1 M Se08 0025 M SfadE 24 w0 NSwa dvedt

(1) 12 - (2) 12
(3) 30 (4) 3
Rough Work
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160, Assertion (A) : van der Waals® forces are responsible for chemisorption.
Reason (R) :  High temperature is favourable for chemisorption
The correct answer 15
{1} (A) 15 not correct but (R) 15 correct
(2) (A) and (R) are correct and (R) is the correct explanation of (A)
(3) (A) and (R} are correct but (R) is not the correct explanation of (A)
'{4} (A) 1s correct but (R) 15 not correct

adha (A) @ drdhd e@Thwdd Todbod vuw Fime.
sdmo (R) @ ddchd edffhodl edd a8 edirode.
28 HOTHD ddrgrdo

(1} (A) 2030 s*d 52 (R)DOTHHO

(2) (A) So0ckn (R) oo DOTNSD, (A)$ (R) HOTHS Dddm

(3) (A) S0 (R) 00 DOTRSD, 0 (A} (R) HOTHS DSdm 57
(4) (A)ROTHHE o7 (R)DOBRID &
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